RACINES CARREES

EXERCICE 4B

EXERcCICE 1 : Calculer:

ExXERcICE 3 : Calculer:

EXERcICE 5 : Calculer :

A=(2+1)(2+3)

A=\/§x\/§+ 2><3+1><\/§+1><3

A=2+3J2+2+3
A=4J2+5

A=32(\2+1)
A=32x2+3/2x1
A=3x2+32
A=3J2+6

5= (5 +2)(L+ )

c=(\2+1)(2-3)

B = (215 +2)(1-3v5)

A= 23(73)’
A:2\/§x(7\/§x7\/§)
A= 2\/§ X (7X7X\/§X\/§)
A = /3 x 49x3

A =294[3

D=2+ )2 1)

C=7/3(3-53)

B=37(2-11/7)°

EXERCICE 2 : Calculer:

D=(5V2-4)(3-8V2)

A=(2+1)

A= (2 +2x[2x1 +1°
A=2+21[2+1
A=2[2+3

EXERcICE 4 : Calculer:

C=27(1-37)(27-3)

B=(\3+2)°

A=(32+1)

A = (3\2)’ + 2x3\[2x1 + 1°
A=9x2+62+1
A=6+2+19

EXERCICE 6 : Développer :

c=(\5-2)

B=(2\3+1)

A= (x+12)’
A =X+ 2xxx[2 + (\[2)°
A=x2+2\/§x+2

D= (5++7)

c=(2\5+3)

B= (3 )

D =2(5+32)°

C = (x~25)(x +2v5)




